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Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
T 2R Ty et

(a) Mention one need for studying
€conomics.

G ST BT AAGA TS ST ] |

(b) Define market economy.

Jed GefAIfoy sigEm @3 |
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(2) (3

() Why is the average fixed cost cu
‘ 1 a> urve
() What is elastic demands w46 rectangular hyperbola?
(’
sz s 9 M & 3 (e Ry Ry - =0 2
(d) Draw the perfectly inelastic supply curve,
Folefl SRFFSTIE G (IO TE] 3 | 2. Answer the following questiong briefly : 2x5=10
' O ZPACIIRS Y T el
(e) Define an inferior good. (a) Distinguish between POsitive economics
frpe SR el Tl | : and normative economicg
Iffefes wa@ifS I %%Qﬁs E{Q@ﬁﬁ i)
(/ What is income consumption curve? e A

1 Socster (@21 2

(b) State two exceptions of the law of

demand.
(9) Distinguish between short run and long ‘
run with the help of fixed and variable et b @Tmmw,
costs. , .
& o= cfRedmie e IR Sgre ZTE (c) DlSti{'lgUiSh b.et‘ween ‘(.:hange in demand’
T TR A1y ey w1 | and ‘change in quantity demanded’.
VIRAA ARET” 1 By sifRarer ARedar
(h) What is producer’s surplus? ® <M e !
TeAM Tgs 5 2

(d) Prove that two indifference curves do not

intersect each other.
() “Supply curve is not relevant for

monopoly.” Why? AN TN @ qOE PR @R DR whe
« CTEICS |
IR oS o @A GIKIESO I PRt
IS '
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(4 ) .54

(d) Explain the behaviour of  profit
help of

(e) -Why is the long-rup
magimizing firms with the

average cost Curve

‘U’ shaped?
(I 51 TR T U wrpfeq fovg marginal revenue and marginal cost
= approach.
| e A= GGG
3. Answer any Jfour of the following questi ' oifegs @ A Gllicad NIERIG ©
ions : S5 <l Ao SR I 4 |
o] Sx4= . .
R QM wiiE Sew iy =0 (¢) Explain that substitution effect is always
' negative.
(@) Eﬁ:jat IS budget line? Why g e a1 @ 2ifeH [ A e |
get line slope downwards? 0oes  the ) )
Mes e A ! (f) Derive demand curve for a Giffen good.
? JCHG S o
=79 @?ﬂ%ﬁw@ﬂfﬁm T;WW% @ TS wyregel 41 =4,
|
(b) Disti
goods and goods,
goods complemer, % o AeaTEd Ted T
FOMET S, Rem s L (a) Explain how the price system allocates
Tere N1l fayefy 90 | "ff%'fﬁas NG resources. 10
_ v qRER (A UM WG e, T
(c) What s monopoly? g, 1 . . 41 |
marginal reve Xplain v, Or/ =341
fies baonk nue curye of hy the
elow its avergge ket monOpoly What are the main problems of an
GEaqaizg G e © Curve. economy? How does a free economy solve
LS NI ey iy them? 3+7=10
' TS Ay L '
e | YR g wefifer T e & fo I s
’ | iy 2 TR (FETHCE S 63 2
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(7))
(6)

= h
(d) What is price rationing? Analyze the

3 o . 2 on tkle maIket.
impAct of price rationing 2+8=10

() What is price elasticity of demand? What
are its determinants? Discuss. * ' 3+7=10

?ﬁ%%ﬁm%?w&m% . SR 7 T TSR JERE SIS
? SICEI] | e

o 2o Rogae <41 |
Or / 9247 Or/@?[ﬁ]

: hift
Explain the concept of marginal rate of Discuss the factors respoln Slﬂivi(: S5+5=10
Substitution with the help of diagram_ ' in 4 demand and supply c
Why does Mmarginal rate of Substitutiop mmﬁ;@ @R TAMTTZ
diminish? 6+4=10 W e ef=
Pat Tere aife afwsm = AR g7y . ST <54 |
T 2N aifeas 29 R TRPRE =7 9

* KK

(©) Explain the determination of Wages PR
under competitive labour market. 10

Mmmwmﬁmq%
T 347 |

Or / gy

Derive input demang curves. Discuss the

factors Tesponsible for ghjft in  input
demand curves, 6+4=10
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